'TEOMETPHUYHHA
OUT'YPA U TEJIA

bopmynu 3a 0bUKOsIKa,
auye u obem




Kpbr/oOKPb)XHOCT

P=2.mnr=rm.d

S =T.r°



TPUBIBAHUK




UeTUpUbrbAHUK

D

P=AB+BC+CD+DA
S = Sanec + Sanco



[MpaBOBbLIbAHUK

D




KBaapart




YcnopeAHUK

P=2a+2b
S=a.h, =b.h,



Pomb6




A

P = AB+BC+CD+DE

_at+tb

S
2







lMapanenenunen

S=2(ab+ac+ bc)
V =abc = Soch.. H=B.H



lpnsma

S okonna nosbpxHuua = P och. .H

S1=2B+P.H V =Socu..H=B.H



lMMupamupa

S okonHa noebpxuuHa = 12 P och.. h

S1=S+B V=1/3 B.H



LIMAMHABP

Sok. =Poch.. H=2nr.H
S1=-S+2B V=BH B=nmr’



S ok. = 11.L.Y S1=S+B
V=1/3B.H B=nr?



Kbnbo

S =4nr?
V=4/3nr?



